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*l_[T ]G(JPC-') *ET IG(,]PC )
fo(500) (o) 0 (0 ) ag (980)
10(980) 07(0" ) [Cao(980) ) ap(980) | 1-(0FF)
fo(1370) 0F(0*++) ag (980)
fo(1500) 0+ (0+) aq (1450)
fo(1710) 0T (0F) | ag(1450) | ad(1450) | 17(0FF)
kT | ag (1450)
K (KZ(700)) 2(07)
! ag (1950)
K™ | ap(1950) | ab(1950) | 17(07)
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¥ f0(980)Fa,(980) R N qqzA B R ) M

QRIS . IR EN T .
SO b O E 18N B TE2GeV AR IR A T

RGNS TS . RN RN TR EN 2D KT S PREE RIS E.
i%i: MfO(SUU) < Mp+o

g BRI S Hor 5 HsSH) f0(980)%théﬂ%?y”ﬁg%ao(%o)oizoo — 300 MeV.
SIS b WIME AR RV EA L.

N1 qg BEAE LUFRESZEG E LI 3] £,(980) —» KK F1 ay(980) — KK FEAR 43 3 Huiisg K iy ) fit

f0(980)Fla, (980)1E N & i 5a F S RIMERIE R
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® FRHFSFoaY

e In the Chiral Unitary Approach:

£, (500), £,(980) and a,(980) are dynamically generatedfrom the
interaction of pseudoscalar mesons,
and could be interpreted as a kind of molecular states of meson-meson.

£,(500) couples mostly to zzz; f,(980) couples mostly to KK
and a,(980) mostly to 777 and KK..

fo(5800) ——> 7z resonance £,(980) =—> KK molecule

a,(980) =—=> 71+ KK molecule

[Oller and Oset, NPA620(1997)438]
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e R IBRTFTEA I A I REBAIFRENTEISTE IR 535

Szi . BESIHI. LHCbh. Belle. BaBar2%fE — &b i Wk o 1~ 55 T2 A% i £ oo i 1)
TBREN T EES.

BNV TRAREN T 0 TS EIR, XL Hm5m 1 1 55 AR et AT 7 BB AT,
RERULF AR O B SEIR A, SCFF T B EN TR TR ERE.
BU(B;]) _)]/wﬂ-+n-— [WHL, E. Oset, PLB737(2014)70]

B° - DY £,(500)(f,(980),a,(980))  [WHL, J.J. Xie, E. Oset, PRD92(2015)034008]
B°(B~,B?) - J/YKK(my)  [WHL,J.J. Xie, E. Oset, EPIC75(2015)609]
Yei > nutn~  [WHL, J.J. Xie, E. Oset, EPJCT76(2016)700]

n.—nutm~  [V.Debastiani, WHL, J.J. Xie, E. Oset, PLB766(2017)766]

LN N X X X

D} - nn®r™  [R. Molina, J.J. Xie, WHL, L.S. Geng, E. Oset, PLB803(2020)135279]
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TAREST I R B TRE T /£ Bethe—Salpeter (BS) g,
T=V+VGT=0-VG) v

dmax g* dg wi + w)

G(5) = f

0 (2m)? wywa s — (w1 + w)? + i€l
7 SNREAT: V,;j = (j|(—L,)[i)

_ _ .Tr
THIHK T det(l —VGE) =0 === Sp=Mp+i-
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@ 2itAEZ (£,(500), £,(980)% a,(980)ey s 5 2 2k )

B AEE p— o BETHT JPC = 0+ PP AWM. [ MeV]

Gmax 600 800 1020

S 452.91 + i252.92 466.26 + 1219.28 469.58 + i187.92

R 2 981.25 + i5.40 940.99 + i13.87 892.62 +i19.71

R 3 985.24 + i57.78
T2, & n—n WEWHWT JPC =0+ PP BN [F47: MeV]

Gmax 650 750 1000
=N 457.54 + i244.25 464.11 + 227.33 469.59 + i190.38
s 2 985.45 + i6.05 972.93 + i11.42 933.17 + i20.72
s 3 (Mmoo = 995.2) 994.06 + i38.70 984.34 + i63.74

11



@ itIHEZR

(£,(500), f,(980)F= a,(980)ky 52 20 2 7= 2 )

3. HHEN — 1R, qmax = 750 MeVHT, 157445 & W NE

IS A %ﬁgio [BAAf7: MeV]

464.11 + i227.32

972.93 +111.42

994.06 4 138.70
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778.5 +11567.6

396.8 +7905.1
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2830.5 — 1358.7

272.8 +1741.1
191.3 +4525.4

2611.9 —2132.1
118.01 —50.1

—338.1 +¢1602.6
—4310.9 +¢1503.0

—2182.8 +11238.5

1852.9 +21086.6
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